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F= %2 MRl | IR T Sy pad
1 RHT 5 51X TiE 89.02 HiE4E
2 FEX = 51T 88.08 HiE4E
3 ERE = 5+ TR 88.04 Hif4
4 SRS = =TT 84.92 HiE4E
5 Bz 2 52T 1% 84.22 BHiE4E
6 EII 5 =TT 84.04 B4
7 X Z2 R 5 51T 83.6 Hif4
8 i 5 51T 82.64 Hif4
9 Xl ZE 4§ 5 51T 82.04 Hif4
10 X EL = 51T 81.76 Hig4
11 BEER 5 51T 81.34 Hig4
12 Fi& = =X T 80.28 B4
13 NN 5 51T 85.4 AR EI+
14 BEA = TEHZE 79.84 2 AREE+
15 B = =1+ TiE 79.74 = AR BRI+
16 FRE = 51T 79.32 2 AR B+
17 sk T = 51 T# 79.06 2 AR B+
18 A1 5 51T 78.46 2 AR+
19 =il 5 51T 78.3 2 AR+
20 EE?E?E 5 =1+ TiE 78.22 = AR BVR
21 &R = 51T 78.08 2 AR B+
22 1$nnﬂ S = panlli 77.62 = AR BVR
23 it = 51T 77.6 2 AR B+
24 SRS = 51T 76.76 2 AR+
25 X3 5 51T 76.42 = AR EVR
26 =i 5 a1 T% 76.2 2 AR B+
27 i ES TRENZE 75.52 AR AR+
28 HREL 5 a1 T% 75.32 2 AR B+
29 2% 5 a1 T% 74.68 2 AR B+
30 A0 5 a1 T% 74.54 F AR+




